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B. Com. (Part IT) EXAMINATION, 2019

(Foundation Course)

Paper First
HINDI LANGUAGE
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 26
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(i) Attornery General
(i) Convener

(iii) Project Officer
(iv) Surveyor

(v) Governor

(vi) Chairman

(vii) Calculator

(viii) Supervisor

(ix) Agent

(x) Judge
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CD-2022

B. Com. (Part IT) EXAMINATION, 2019

(Foundation Course)
Paper Second
ENGLISH LANGUAGE
Time : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 26
Note : Attempt all questions.

1. Answer the following questions (any five) : 15

(a) What do you mean by the phrase “All Men are
Scientists” ?
(b)

(c)

How were wounds sterilized in ancient India ?

What had Patanjali to say about the effect of Yoga
on human mind ?

(d)
(e)
®

Why does the agony of plant leave us indifferent ?
Why have people invented computers ?

Describe the instrument that records the beating of
the plant heart.

(2)
(h)

What role do the satellites play in communication ?

Which was the golden age of Science in ancient
India ?

(i) What did the family do after landing on the surface
of Mars ?

@)
()

What does the author refer to as “gunk” ?
How was uranium designated ?

(A61) P.T.O.
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3 Read the following passage and answer the questiq, ;

given below : §

Ram Mohan Roy was born at Radhanagar in the Hoogj;
district of Bengal on May, 22nd, 1772. His father,
Ramkanta Roy. has settled at Radhanagar after giving up
his post under Sirajuddoula, the Nawab of Bengal. He had
been unjustly treated by the Nawab. and he also had some
trouble about his lands. So he became somewhat

unattached to the world, and generally spent his time in
prayer and thinking of God. Ram Mohan's mother, Tarini
Devi. was a very religious woman. She believed faith-
fully in the sound nature of the Hindu religion as it was
then understood. Her great belief is shown by the fact that
snce she went for a pilgrimage to Puri on foot, without

taking cven a maid-servant with her.

Questions :
(i) When and where was Ram Mohan Roy born ?
(ii) Why did his father give up his post under
Sirajuddoula 7

(iii) Give a brief description of his mother.

How do you know that his mother had great belief in
the Hindu religion ?

(v) Suggest a suitable title.

Write a report on any one of the topic mentioned below in
about 200 words 10
(i) Blood Donation Camp in your college.

(i1) Eye-Donation Camp organized in your college.

(A-61)
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(ili) Medical-camp organized by the NSS Unit of the
college during its special camp in adopted village.

(iv) Oath-taking ceremony of the students-council of
your college.

4. Expand any one of the following ideas in about 200

words : 10

(i) Rome was not built in a day

(1) Where there’s a will there’s a way

(iii)) Union is strength

(iv) Knowledge is power

5. f{a) Do as directed (any twenty) : 20
Insert Articles :
() They make toys in .......... evening.

I 1)) ‘There 18imuns:: hourly train service on this
route.
(iii) She s little Hitler.
(12 I—— elephant is a strong animal.
Fill in the blanks with the proper form of be, have,
do:
T (V) e you Mr. Kumar ?

o (vi) L — much luggage.
> - (vii) They ... three brothers.

(vill) e as you wish.

Fill in the blanks with possessives or self forms :
(ix) She out w5 while cutting vegetables.
(x) I have to blame ......... for this error.

(xi) You should do it by ............ :
Complete the sentences using correct form of
degree :

(xii)  Your plan is not very good. My plan
IS vovereeens .

(xiii)  You are not very tall. Your brother IS e :

(A-61) P. T. O.
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This Stupa is very old. Itis the ... in the
world.

(xv)  Moncy is very important. It is the ..
thing in the world.

(xiv)

Correct the sentence :
(xvi)  Here is coming the bride,

(xvii)  Prachi lives in Durg now.

Fill'in the blanks with modals :

(xviii) They ... gladly accept the offer.

(willingness)
(xix)  How .......... you insult him ?
(presence of courage)
(XX) e, you prosper and live long.
(blessings)

Change the Voice :

(xxi)  Who has broken the table ?
(xxii)  Prachi give him a book.
(xxiii) Open the door.

Give synonyms (any five) - 5
(i)  glorious (i) exchange

(iii) attack (iv) harm

(v) cure (vi) outstanding }
Frame sentences ¢ distinguish  between the
following pairs of words ( any five) : 10
(i) Principle-Principal (i) Some-Sum

(i1i) Right-Write (iv) One-Won

(v) Flaw-Flow (vi) Pray-Prey

(vii) Two-Tog

CD-2022
8,000
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B. Com. (Part IT) EXAMINATION, 2019

{Group—1: Accounting)
Paper First
CORPORATE ACCOUNTING

Time : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 25
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
TI—1
(UNIT—1)
1. U@ A @ WAaRe @ T 10 drel 100000 ¥ & forg
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150000 9 & fero urelarga g g0, BT 9 25000 W
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(50 M| Sudaq aerl @) oo ffieat @)

A company’s prospectus invited application for 100000
shares T 10 per share at a premium of Z | each payable at
to T 5 on application, T 3.50 (Including premium) on

allotment and ¥ 2.50 on call.

Applications for 150000 shares were reccived of which
applications for 25000 shares were refused and money
returned. Allotment was made pro rata to the remaining
applicant. Excess application  money being applied to
wards the amount due on allotment.

Prasad to whom 200 shares were allotted, failed to pay the
amounts due from him on allotment and call, his shares
being forfeited and subsequently re-issued to Prerana at
¥ 10.50 per share. Show the journal entries recording the

above transaction.

(A-27)
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What do you understand by Preference Shares ? How is it
redeemed ?

THE—2
(UNIT—2)

. 9 U9 fdued A aeR qaRy | gue @ fafie dfer
BT T BT |

Distinguish  between winding-up and dissolution.

Describe the different modes of winding-up.
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N 8,600
st o7 R 26,250
o o 6,000
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oz 0 e 1,28,400
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i 12,500
s W@ AR 1,05,400
N 19,530
R | 96,860
S 84,290
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17,30,610

11,69,90¢
9,850

50,000

62,220

38,640
4,00,000
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(iif) wE T A R 15% @ R ¥ @ el G
W 10% 3 X J g A 8

(iv) yRfe adt @ 1/3 W ufaRed IR & |

v) STIER & R 50% @7 S a9 ¢ |

(vi) WaE@ 4 31 A, 2016 P AN yefed o,
13.068% T &R X AT |

The Manisha Auto Parts Manufacturing Co. Ltd. was
registered with an authorised capital ¥ 10 lac divided into
shares of Z 10 each of which 40000 “shares had been
issued ‘and fully paid. The following is the Trial Balance
extracted on 31st March, 2015 :

Debit Credit
Particulars Balance | Balance
) ()
Stock (1 April, 2014) 1,86,420
Purchase and Sales 7,18,210 | 11,69,900
Return 12,680 9,850

(A-27)P.T.O.
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Manufacturing Wages
Sundry manufacturing expenses
Carriage Inwards

18% Bank Loan (Secured)
Interest on Bank Loan
Office salaries and expenses
Audit Fees

Director’s Remuneration
Preliminary Expenses
Freehold Building

Plant and Machinery
Furniture

Loose Tools

Debtors and Creditors

Cash in hand

Cash at Bank

Advance payment of tax

April, 2014

Share Capita]

]

Statement of Profit & Loss on 1st

e . |

1,09,740
19,240
4,910

4,500
17,870
8,600
26,250
6,000
1,64,210
1,28,400
5,000
12,500
1,05,400
19,530
96,860
84,290

CD-2023

50,000

62,220

38,640

4,00,000

17,30,610

— 1

17,30,610

(A-27)
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You are required to prepare statement of P/L the year
ended 31 March, 2015 and a Balance Sheet as at that date
after taking into consideration the following adjustment :

(i)

(ii)
(iif)

(iv)
(V)
(vi)

On 31st March, 2015 outstanding manufacturing
wages and outstanding office salary stood at
¥ 1,890 and ¥ 1,200 respectively. On the same date,

Stock was valued at T 1,24,840 and Loose tools of
< 10,000.

Provide for interest on Bank Loan for 6 months.

Depreciation on plant and machinery is to be

provided @ 15% while on office furniture it is to be
@ 10%.

Write-off one-third of preliminary expenses.
Make a provision for Income Tax at 50%.

The directors recommended a dividend @ 15% for

the year ending 31st March, 2015. Assume 13.068%
Dividend Tax Rate.

gh—3
(UNIT—3)

31 T, 013 @1 RrE Rt @ Ref-Raw 3

frafafad Refy gae ot o -
fawor du| X
I. 9T 09 <R
(1) ool &1 a9
(@) @@ ot 30000 3% TR 10 1| 3,00,000
(3) ¥=a T afera® 2 | 86,000
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3,00,000

60,000
26,000

86,000

1,75,000
90,000

2,65,000

95,000

The Balance Sheet of Chidanand Ltd. disclosed the

following position as on 31 March, 2013 :

Particulars Note 4
No.
I. Equity and Liabilities :
(1) Shareholders’ Fund :
(a) Share Capital 30000 shares of | 1
T 10 each 3,00,000
(b) Reserve and Surplus 2 86,000

(A-27) P.T. O.
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N

(2) Current Liabilities :
Trade Payable (Creditors)

Provision for Taxation
Total 1 +2
II. Assets :
(1) Non-current ASsets :
Tangible Assets 3 2,65,000 |
(2) Current Assets :

Stock on Cost 1,15,000
Debtors 4 95,000
Cash ana Cash Equipment :

Cash at Bank 37,000
Total 1 +2 ] 5,12,000
| a

You are asked.to value of goodwilluof the company for
which purpose the following information supplied :
(i)  The reasonable return on capital invested in the class
of business done by the company is 12%.
(ii)  Adequate provision has been made in the accounts
for Income Tax and depreciation.
(1ii) Rate of
) Income Tax may be taken at 50%.
[1V) The av .
= crage rate of dividend declared by the
pany f
y Tor the past five years was |5%.

(A-27)
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Notes to Accounts :

(1) Share Capital :
30000 equity share of ¥ 10 each fully paid ~ 3,00,000

(2) Reserve and Surplus :

Capital Reserve 60,000
Statement of Profit & Lbss 26,000
86,000

(3) Tangible Assets :

Land and Building 1,75,000
Plant and Machinery 90,000
12,6500
(4) Debtors 98,000

() Provision for Doubtful Debts 3,000 95,000
ol -
(Or)
soi & wwm @ ee-d A R € 7 o @
Tt B g e R ol el SRS
wfea e @i |

What are the various methods of valuation of shares ?
Describe and illustrate the Net Assets method and Yield
Valuation method.

(A-27) P. T. O.
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(2) are| Wt
() wy 1,30,000 | 1,60,000
(@) @Rs w9 (@FRR) 2,80,000 | 1,40,000
(W) Ve 1@ Ade qed | 4 | 1,40,000 | 1,20,000
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Rofy fqavor 910 |

Sharma Co. Ltd. and Soni Co. Ltd. agree to amalgamate

as from 31st March, 2014, on which date their respective
Balance Sheets were as follows :

Note Sharma | Soni Co.
Particulars No. Co. Ltd. Ltd.
) ®)
1. Equity and Liabilities :
(1) Shareholders’ Fund )
(a) Share Capital | 1 | 14,00,000 10,00,000
(b) Reserve and Surplus | 2 4,40,000{ 4,50,000
(2) Share application '
money pending
allotment
(3) Non-current Liabilities :
(4) Current Liabilities :
Trade Payable
(Creditors) 60,000, 1,00,000
| Total 19,00,000| 15,50,000

(A-27) P. T. O.
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l; ;\;;ets :
(1) Non-current Assets :
Fixed Assets :
(a) Tangible Assets
(b) Intangible Assets
(2) Current Assets :
(a) Inventories (Stock)

/ (b) Trade Receivables
(Debtors)
(c) Cash and Cash

Equivalents
L Total j ]19,00,000] 15,50,0@ {

Calculate purchase consideration and pass journal entries
in the books of Transferor Co. Assuming that the Assets
and Liabilities are equivalent to the book value. The
payment of purchase consideration is to be made by the
Tiwari Co, Ltd. in fully paid equity share of ¥ 100 each.

Also
Prepare the Bajance Sheet of the New Co. Tiwari

Ltd whe
: n the g
bove amalgamation js jn the nature of

merger.

(A-27)
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3Tt
(Or)
o B awRe EfET 4 @ oaed & 7 9
aRReRE &1 aargy R g sevas 8@ o & |

What is meant by Internal Reconstruction of a Company ?

State the circumstances in which Internal reconstruction
becomes necessary.

IHE—5
(UNIT—S5)
o @ Ruft Rxwr & F=faRea #t & F93mEy -
() ey vd 9He 9@
(i) MR-dfpm wwfm
(iii) <7 fau=
(iv) TTE U 3ed 3@ FE RO

Explain the following items usually found in the Balance
Sheet of a banking company :

(i) Overdraft and Cash Credit

(ii) Non-banking Assets

(iii) Bills Payable

(iv) Money at call and short notice
Iqar
(Or)

1-4-2013 B Y T 7 2 f4 & 2T 10 @ 1800 aiw

% 36,000 @ A W H3 5| s Y Ay & Ry
zfa & am-uif o &1 aweers 9w 2 24,000 o7 |

(A-27) P. T. O.
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Y for Zfa.
e O |
L. 991 U9 TR
(1) SFrEnfat 1 By
(&) e goh 2,00,000 | 20,000
(4) 99 W@ aftRa 1,20,000 | 30,000
(2) = anfies - |
ARG 27 60,000 4,000
3,80,000 | 54,000
11 Ry
(1) R-7a1 auferat - |
YT Ffer )
T e 2,18,000 h
AT T o7 - 4,000
Z % T T 10 o)
1800 ¥ 36,000 -
(2) a1 weaferaf -
e 60,000 | 10,000
NG 91y 40,000 | 14,000
\_\W\gﬂj@% — ] 26,000 26,000
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aal @ feqo
R frawor 2 :
OESRCIE
'. T 10 dTel 20000 Y 2,00,000
2000 39 YRF 7 10 20,000
2,00,000 | 20,000
(2) Hug wd afens -
= |9 1,00,000
AT fdaRoT 03 20,000 | 30,000
1,20,000 | 30,000
(3) 5t et :
Prelee Trf 1,90,000 =
e Tg g 28,000 -
‘ 2,18,000 -

On 1st April, 2013 Y Ltd. acquired 1800 shares of ¥ 10
each in Z Ltd. at a cost of ¥ 36,000. At the date of
acquisition Z Ltd. had a credit balance of ¥ 24,000 in its

Statement of Profit & Loss.

From the gi\)en ahead

Balance Sheets prepare a

consolidated Balance Sheet of Y Ltd. and its Subsidiary Z

Ltd. as at 31-3-2014 :

(A-27) P. T. O.
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Balance Sheet of Y and Z Ltd.
(as on 31st March, 2014)
Particulars Note | Y Ltd. Z Ltd.
‘ No. ®) ®)
I. Equity and Liabilities : ]
(1) Shareholders’ Funds :
(a) Share Capital 1 .| 2,00,000 | 20,000
(b) Reserve and Surplus 2 1,20,000 | 30,000
(2) Current Liabilities :
Trade Payable 60,000 4,000
3,80,000 54,000
II. Assets :
(1) Non-current Assets :
Fixed Assets
Tangible Assets 3 2,18,000 —
Investment on Cost 4 - 4,000
Share in Z Co. at cost :
1800 shares ¥ 10 each 36,000
| (2) Current Assets :
Stock 60,000 10,000
Trade Receivable 40,000 14,000
Cash and Cash Equivalents 26,000 25?00 ,
Total 13,80,000 | 54,000

(A-27)
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Accounts notes :

- ——————

| Particulars | 1
0 Shar Capi — T
| Authorised, Issued Share Capital :
| 20000 share ¥ 10 each 2,00,000
2000 shares @ T 10 cach - 20.000

L —— e —

2,00,000 20,000

e

(2) Reserve and Surplus :
\ General Reserve 1,00,000
| Statement of P/L 20,000 | 30,000
| AR

120,000 30,000

I,

\ (3) Tangible Assets ¢
Freehold Property
\ plant and Machinery

e
L/// 218000 -
18000 -

190,000 | -
28,000

8,000
Cp-2023

(A-27)
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B. Com. (Part 11) EXAMINATION, 2019

(Group—1: Accounting)
Paper Second
COST ACCOUNTING
Time : Three Hours

Maximum Marks : 75

e : wﬁﬁawﬁ%ﬁwaﬁmmmﬁwm
maﬁaﬁé\'w*%wﬁ%aﬁwﬁl

Attempt all the five questions. One question from each

Unit is compulsory. All questions ¢
THE—1
(UNIT—1)
1, mé@ﬁmmmﬂ?wmﬁm
F ST € 7 dr i @ g anl B ol

T |

What de you understand by Cost Accounts ? What is their
r 7 Describe the benefits obtained from

arry equal marks.

utility to a produce

Cost Accounts.

»
e

(A-56) P. T. O.
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(Or)
Ffofen st @ 2019mfc’wf3f$7faﬁhm
®R R I 7
wifa -
T 1 300 FPIRAT 2 2 WY g
T 14 25033»‘!3:1"??:??39%3613‘
T 20 %0 TR 2 250 9 g
fofe -
T 3 ' 125 gIgat
T 16 175 g@TSt
T 22

Receipts :

March | 300 units @ 2 per unit
March 14 250 units @73 3 per unit
March 20 560 units @3 2.50 per unjt
Issues ;

March 3 125 units

March 16 175 units

March 22 90 units

(A-56)
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)
Z‘On march, 24, 10 unigs jssued on March, 16 were

the department to th
rence of 14 units was found as per physical

} rclumed. b e stores and on 31st

march 2 diffe
vcriﬁcalion.
THE—2

(UNIT——-Z)

,mmﬁﬂ%ﬁ‘ﬁ@mmﬂ’ﬁmm%?gﬂ

u\wﬁzﬁm}ﬁml

‘Incentive Plan’ in the remuneration

what is meant by an

of labour ? Explain these plans in brief.

4
(i) g @ A 11,000
Giy  orad e 1,000
iy s S | 10000
que
(v) ~HHd 1d Y@M R A @ fore 2,500

(v) mﬁ*cﬁﬁa?mﬂ(zswd?ﬂﬂﬁﬁzﬁ

T AE B ferq) 400
' 10
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(vii) wfdfes srdeie gue 8 o,
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1

(%) e 91 51 37 5%

Compute Machine Hour Rate for Machine No. 85 fron,

the following data :

[

4

(i) Cost of Machine 11,000
(i) Scrap value 1,000
(i)  Effective Life 10000 hours
(iv) Repairs and Maintenance for

whole life 2,500
(v) Standing charges for shop

(For a month of 25 working days) ' 400
(vi)  No. of Macﬁines in the shop ) 10
(vii) Working Hours per day 8 hours
(viii) Power used per machine per month 75

(ix)  Machine Insurance 5% of

Depreciation

a9 | HUFCTRIT Ryawor 34 7T, 2018 B T BN
T T B o 5 Tt Y v b

(A-56)
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A manufacturer makes two kinds of Electric Pumps X

and XB. The following particulars relate to these Pum,

for the year ended 31st March, 2018 :

XA XB
| Pumps manufactured 250 120
4 3
Direct costs :
Materials 6,280 5,300 ,
Wages 18,800 11,400
Power etc. 4,200 2,820
Total 29,280 19,520
S
Other Costs : 4
Factory Supervision . 71,200

Packing, Wages etc. 800
f Selling Expenses 8,880
You are required to Prepare a statement showing the cost

of each kind of pumps, taking the following into
consideratjon

(i) Factory Supervision to be charged in proportion to
direct costs,



—-—————

(71 cD-2024

e apponioned in the ratio that

g expenses tob
s of XA

direct costs plus factory supervision cost

(ii) packin

harged in proponion to the
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Long and Short took a contract worth ¥ 3’50'000

Following information are available in respect of th
contract :

Material purchased ¥ 70,000; Wages paid ¥ 31,500; Plan[
issued (for eight months) ¥ 1,40,000; Indirect eXpenge,
¥ 7,000; Other outstanding expenses < 1,500; Materig) "
the end ¥ 7,000; Cash received being 95% of the Work
certified ¥ 1,89,000; Cost of work uncertifieg
¥ 10,500.

On 31st Dec., 2018 plant sold costing ¥ 15,000 for 4 sum
of ¥ 12,000. The plant is to be valued after charging ,
depreciation @ 15%, Extra work was also done the
completed on this contract (not included in the termg of
contract). The value of Extra work was Z 16,000 while its
cost was ¥ 13,200. |

Prepare Contract Account for the year ending on 3]st
March, 2019,

TPE—4

(UNIT—4)

Wm,mmmamwmwm‘rmml

Explain  Normal Wastage, Abnormal Wastage and

Abnormal Effectivenéss, How should these be dealt in

Process Cost Accounts ?

(A-56)
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O

(Or)
5 e gEE T gB Aew A v g
ﬁmﬁmwﬁaﬁa,zommzﬁrﬁmﬁa
qﬁamqmﬁ@ﬁgwﬁmﬁm

15,000
10,500

1,220

142016 B TR B A T 3,00,000 off | gl T
R X 25% B ATl mfeat 4 A H 20000
e A T T W B

i e a e R




A

The Indian Transport Company maintains a few mo
vehicles. From the information given below, Prepare
cost statement showing cost of operation per km fo, the
monlh of Apnl "018

lop

S —

Vk ages for the month

Petrol consumed for the month
Oll consumed for the month
On 1-4-2016 the cost of the vehicle was ¥ 3,00,000

Charge depreciation on reducing instalment system g
25%. The vehicles covered a trip of 20000 km during the

month.
Estimated annual expenses were as follows :

|
I

; Repairs

| Tyre, Tube expenses

' Licence, Insurance etc.

; Rent and Rates of the Garage
E Miscellaneous Expenses

SPIE—5

(UNIT—5)

-qﬁmuﬁ@awﬁ?ﬁuéah%wmm‘raﬂqwiw
YeH #Xd & ? TNl YR @ ol gRy ey g arAt |
FR @ & SRV Bl FHSSY |

What value do you attach tc the reconciliation of Cost
Accounts and Financial Accounts ? Explain the main
reasons for the difference in the net profit shown by the
two sets of accounts.

(A-56)
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3Fer
(Or)
@ N 3 TOE-AE-E Qe @ ae
y = 240000 +0.7X e aftta frm m ® R X
o @ R Y T AR Y A &
ﬁﬂ‘%ﬁéﬁﬁmmz
) T S
(i) Saqred Q-RR g |
(iia)mﬁamaﬁzeo,oooﬁmm%lﬁﬁm
2l ?
(iv)mﬂﬁqﬁéuﬁﬁ';ﬁno,oooﬁm%l
v) igo,oooﬁmmﬁ%ggﬁsﬂﬁaﬁﬁml

_Profit relationship of a company is
on Y = 240000 + 0.7X in which X

d Y is the total cost.

The Cost-Volume
described by the equati
represents sales revenue an
Find out the following -

(i) P/V Ratio.
(ii) Production Break-
(iif)y Company wants to inc
will be the sales 7
(iv) Increase in profit if sales increase by 7 30,000. -

(v) Sales volume required tO
Z 90,000.

even point.

ease profit by T 60,000 What

produce an income of

8,030

CD-2024
(A-56)
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B. Com. (Part IT) EXAMINATION, 2019
(Group—II : Business Management)

Paper First
PRINCIPLES OF BUSINESS MANAGEMENT |
Time : Three Hours
Maximum Marks : 75
A wﬂtﬁﬂwﬁéswam|mwr§ﬁﬁw

mW%mﬁmﬁ%ﬁwﬁ

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.

Discuss the importance and utility of management in the
modern business environment.

IRyl
(Or)

“Wwﬁnm@ﬁqawﬁﬁl"m@%@
&3 2 e HRAT

(a-29) P. T. O.



: ision-making and leadeay,
“Management is an decisio g eryy
power.” Discuss its nature and scope.

TFE—2
(UNIT—2)

ﬁﬁmﬁ?ﬁm%‘?ﬁﬁmiﬁﬁwww
qarsy |
What do you mean by planning ? Discuss the imponmme
and objectives of planning.

AT

(Or)
“Frofa gew Tl ) ol €17 HET BINTG 1T Pk
- 3 Rrgr 2 e PR

“Decision-making is the key of management functiop>
Elucidate and explain the principles of decision-making,

IPIE—3

(UNIT-3)

. e @) gR S| 9 R v wed @ avi

BT |

Define Organization. Describe its objects and importance.
KGI d
(Or)

STRAAE 50 FEd € ? w8 R woR @7 @ 2

TT STRSIAT BT WRTG0T fbar 7 ey 8 2

What is meant by responsibility ? What are its types ?
Can responsibility be delegated ?

\
!

(A-29)
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IR
(UNIT—4)
N mﬁmamlmgﬁmmmﬁmmw
g St |
Define \eadership. Explain the importance of leadership in
2 modern business.
Rl
(Or)
o @ & 2 SR o g B T
o BT |
What is motivation 9 Discuss the factors which affect
motivation.
IS5
(UNIT—5)
5 Waammaqmqﬁaa—ﬁaﬁmmwm
PIfeTY |
Describe in brief traditional and modern techniques of
control.
Far
: (Or)
aRad @ FERT B JERI T e | TS FE B
R AT
Explain the concept of management of change. Discuss its
nature.
CD-2025

8,000

(A-29)
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CD-2026

B. Com. (Part 1) EXAMINATION, 2019

(Group—II : Business Management)

/

Paper Second
COMPANY LAW
Time : Three Hours

Maximum Marks : 75

A . TN T YAl & TR NN TAE T § TH Y
A AEd B | Tl v F 3id T E |

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
THE—1
(UNIT—1)

\. TP AEGE S @ FE S gEid W de] g
UR™ q% TP Wadd @ WU H U - ded S,
e # quiF B |
Describe the legal formalities that are to be complied with

under Indian Companies Act regarding the formation of a

Public Company (Promotion to Commencement of
Business).

(A-34) P. T. O.



e
(Or)

W@ g w @ g R0 TEAE AR S

A 9T gagy |

Define a Private Company. Distinguish between a Private |

Company and Public Company.

TIR—2

(UNIT—2)

“mfe. Wi F F1 WS TR Fe B 8 )

B G N P N M

“Memorandum of Association is the most important
Chartcr of Company.” Discuss. How it can be altered ?.

oy
(Or)

39 e Fed € ? ) P YoR @ & oy W g
T &, ST IO B |

What is a Share ? Describe the various types of shares that
can be issued by a company.

FPE—3

(UNIT—3)
. U 7§ ? 9uF G TR ¥ IR a1y |

What is Mortgage ? Explain the difference between

mortgage and charge. ¢

3perar
(Or)

Yo FATerd, UidTerd WETed 3 fryfdT od qTf?&Tﬁa?
B1 qU BT |

Describe the appointment and remuneration of Managing
Director and whole time director.

(A-34)

|

|
|
|
!

| |
|

't
'\:

|
!,
l



(3]
T4
(UNIT—4)

Rl @ o R iRt @ P
e T 2 7 RIRAR B ot a1 ot

e

pefine Proxy. Who appoints Proxy ? Describe the rights

of Proxy-

SR
(Or)
RO ST G T R 7 Tg P9 e o Wael & 7

What is an Extraordinary General Meeting ? When can it
be called ?

sﬁré—s
(UNIT—5)

g @ e et @ R o @k e N
w5 £ 7 o6 o 9 WON @ 7 IReR § 7
Who may apply for preventing oppression  and

mismanagement ? What are the powers of the Central
Government in this connection ?

3ral

(Or)
mﬁ%wﬁmm%?ﬁ%w@
T 3 Red § oRR W B!

What do you mean by Winding-up of a Company ?
Explain the difference between winding-up and
dissolution of a company.

CD-2026 8,000

(A-34)
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cD-2027

oyt 11) EXAMINATION, 2019

onomics)

B. Com. P

(Group——III :
paper First

BUSINESS STATISTICS
Three Hours

Applied Ec

Time :

Attempt all the five qQue .

Unit is compulso

ween primary and

rces of coIIect'm
n before using sec

Distinguish bet

the various sou

precautions should be take



[2
| ¢D-202

el
(Or)
qder 7 10 fenfelay & gmr ﬂff@f}mf) i

@) @ MRS
g FrAfiRad gpl A HARR AR ) Tors
e X
| HIFHD yde
T 20
| 2 17
| 3 28
| 4 12
J 5 30
6 40
7 25
8 14
9 35
10 19
1ate arithmetic mean from the following marks

Calculate ari
obtained by 10 students in a monthly test in Statistics :

Marks obtained J

[ RollNo.
| I 20

, 17
28
12
30
40
25
14
35
19

2
3
4
5
6
7
8
9
0

]
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@) @ AR-FR gRR 20 W B A 40 A g
gvel @ T Qa0 ax 2| i gg 10 W @ gl
zsﬁawﬁmﬁwﬁmmélm
R AN @ BN 9% 5 A @ g 20 e A 9l
o 2 99 40 A B G @ wer H W@
m%mﬂiﬂfwﬁwﬁsﬁmﬁwaﬁml

10

A. motor-car driver covers a distance of 20 mile at an

average speed of 40 m. p. h. Then he covers 10 mile

at a speed of 25 m. p. h. Due to bad road he now

covers a distance of 35 mile in 20 minute. The

remaining distance of 40 mile is covered by him in

one hour. Find out his average speed for the entire

journey.
THE—2
(UNIT—2)
2. () g g o @ frer awd w10
Rt o arfuRed afal @ e fAH JeR e
Tr;’f: 5
.4 O by A 5 17, 18, 20,19, 18,0,6
i wqeie T BT

A manager while inspecting his dep
the member of absentees in 10 departments as

artments found

follows :
21,12, 15,17, 18,20,19, 18,0, 6

Calculate third quartile.

(As6)P. T. O.
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Prefafiae oifael A FA RTE A0 BMAQ - 4

(a)

_;;{ m —
04 s
4—8 8
8—12 -
12—16 4
16—20 6
I 30
i7}.:ind standard deviation from the following data :
| Class Frequency
I 5
| 48 8
; 8—12 -
} 12—16 4
| 16—20
'_ Total 30 ol
Aqr
(Or)
¥ e S o agew () @ T
9o s Ffg - 5

14, 8,20, 18, 30, 24,14,18, 14

For i iati
the following data, calculate mean deviation
from mode -

14, 8,20, 18, 30,24, 14,18, 14

(A-fl(;)



CD-2027
@) PR @S ¥ AN @ R T 3w
AT 10
7o (o) ol @ gem |

85 15

90 | 18

95 25

100 19

105 115

110 7

15 28

120 12

125 1l

Calculate Bowley’s coefficient of skewness from the
following data :

Weight (kg) No. of Persons
85 15
90 18
95 25
100 19
105 15
110 7
115 28
120 12
L I'ZS 11

(A-56) P. T. O.
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SHE—5

(UNIT—S5)

5. aawfyE qEAn @1 @ et § 7 AaaiE gafge
3 AEagyl Rigrt @1 | fades @ | i
What is meant by Business Forecasting ? Discuss the
important theories of business forecasting.

3RIdT

(Or)
(@) va It A 5 T, 4 Brell, 3 Yol qAT 4 AT 1T
g1 U 15 Iged w9 | Mareq )R I9D Bl
AT o1l 811 & WRyedr o471 & ? 5

A bag contains 5 white, 4 black, 3 yellow and 4 red
balls. What is the probability of getting a black or
red ball at random in a single draw of one ?

@ e am B e TS ¥ ¥ I T [H-UF IRD
fd1 grerfo & fer o o 1@ aewE, AT
A TAH T T OB OF A B
grft ? | 10
What is the probability of drawing a king, a queen
and a knave in this very order from a pack of cards

in three consecutive draws presuming that the cards

are not replaced ?

CD-2027 8.000



CD-2028

B. Com. (Part IT) EXAMINATION 2019

(Group—III ; Applied Economlcs)
Paper Second
FUNDAMENTALS OF ENTREPRENEURSHIP

Time : Three Hours

Maximum Marks : 75

e W 9 T F SR AR T e ¥ @ e
& Atar R | Wl el & sie e ¥

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

ThE—1

(UNIT—1)
. Sofa & faer ﬁwmmaﬁﬁtﬁtm’rma% DI
B gAY ¥ oI I |

Describe in brief the role of socio-economic environment
in the development of entrepreneurship.
JRar
(Or)
Jod T g1 AN R ? TS A%d IO & ol e ¢ 7

What is meant by Entrepreneur ? What are the
characteristics of a successful entrepreneur ?

(A-28) P.T. O.



o

ZPIg-—2
(UNIT-—2)

Sam §f 7w R ? wna o gen ot @ aral an dey

auig AU |

What i1s Venture Capital ? Describe in brief the sources of
venture capital in India.

3

(Or)
Faua @ favemm & @ Jvd € 7 AaHE JaeRi 3
faeerm & -39 9 & ?

What is meant by Opportunities Analysis ? What are the
sources of business opportunities analysis ?

FIE—3
(UNIT—3)

“gragra @ wmifve ITReId@ e feRrft frar @
qHATR |
“Social responsibility of business is a twoway traffic.”
Explain.

Jar

(Or)
IR AIER | T AWA § ? IUMAr AR B mj@
ENERINEQIFRE

What is meant by entrepreneurial behaviour ? Explain the
main characteristics of entrepreneurial behaviour.

IPE—4

(UNIT—4)
ufddl faer SrdHdl &1 ATAaTTTS Jeard HIY |

Critically  evaluate  entrepreneurship  development

programme.

(A-28)



(3]

Rk
(Or)

mﬁgﬂmﬂ] e w® W e e

B , o -
write an essay on ‘Entreprencurial Development in
]nd'\a..

THE—5

(UNIT—5)
: qmma?a‘amﬁéﬂ%aﬁ%mmﬁmaﬁxﬁm
2 faa AT

Discuss the role of the entrepreneur as an iNnOVaior in
cconomic growth of the country.

Jyal

(Or)
i s, o 7 I @ e A A

State the role of the entrepreneur in generating local

demand.

ChH-2028
(A-28)
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CD-2029

B. Com. (Part IT) EXAMINATION, 2019

COMPUTER APPLICATION
Paper First
(Internet Application and e-Commerce)
Time : Three Hours

Maximum Marks : 50

Note : Attempt any fwo parts from each question. All

1. (@)
(b)
(©)

2. (a)
(b)

(c)

questions carry equal marks.

Unit—I

What do you understand by www ? Explain in brief.

Explain the function of various internet protocols.
Discuss the internet in education system.
Unit—II

Distinguish between HTML and XML.
Describe about META with necessary details.

Describe, how dynamic page is different from static
page.
Unit—II1

What do yod understand by Hypertext Anchors ?

Describe with example.

(A-56) P. T. O.



(b)
(c)

(b)

(c)

(b)

(c)

CD-2029

[2]
Write HTML steps for car automobile shop.
Specify the use of image button in HTML.
Unit—IV

What is the role of e-Data interchange in current
business scenario ?

Discuss the case study of e-Commerce in passenger
air transport.

Explain e-Data in charge and marketing strategy by
case study.

Unit—V

What do you understand by elements of e-
Commerce ?

What do you understand by Website evaluation
model ?

Explain various elements of e-Diversity.

- 2,000

(A-56)
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CD-2030

B. Com. (Part IT) EXAMINATION, 2019
 COMPUTER APPLICATION
Paper Second |
(Relational Database Management System)
Time : Three Hours
Maximum Marks : 50
Note : Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks
Unit—I
1. Explain generalization, specialization and aggregation
using suitable example.
| Or

Describe entity, attributes and relationship and draw E-R
diagram for teaching-learning system.

Unit—II
2. What is Relational Database Model ? Explain it.
Or

What is Normal Form ? Explain 3NF and BCNF
normalization.

(A-54) P. T. O.



[2]
Unit—III

3. Explain good and bad decomposition.
Or

What is Functional Dependencies ? Explain partial and
full FD.

Unit—IV
4. Explain any three DDL and three DML commands.

Or
Explain the following :
(i)  Join Operation
(ii) Set Operation
Unit—v

5. Describe granting roles and privilege used for security.
Or

Explain exception handling with their type.

CD-2030 2,000

(A-54)
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